728

740

VYTYCOVAC/ BODY - SO 04

VYTYCOVAC/ BODY - SO 14

1 v bodd X=990/57.3218 Y=808901.8465 /= 0.0000 74 v bods X=990708.8196 Y=808881.7536 0.0000
2 v bode X=990756.2548 Y=808902.8885 /= 0.0000 7o v bodé X=990708.3994 Y=808381.3089 0.0000
3 v obodé X=990751.1458 Y=808904.6446 /= 0.0000 73 v bod¢ X=990708.1826 Y=808880.9056 0.0000
4 v bode X=990748.4/89 Y=808900.3255 [= 0.0000 74 v bod¢ X=990708.4442 Y=808879.9939 0.0000
5 v bodd X=990751.0308 Y=808903.1572 /= 0.0000 75 v bod¢ X=990712.0543 Y=808876.2809 0.0000
6 v bode X=990747.7844 Y=808905.9960 7= 00000 76 v bodé X=990713.8486 Y=808874.7773 0.0000
7 v bode X=990/39.7468 Y=808908.1948 /= 0.0000 77 v bodg X=990711.8593 Y=808874.3133 0.0000
§ v bodé X=990736.2912 Y=808307.7105 /= 0.0000 7 v bode X=990721.3007 Y=808867.9160 0.0000
9 v bode X=990733.6806 Y=808900.2298 /= 0.0000 79 v bodd X=990723.4132 Y=808865.9913 0.0000
10 v bode X=990733.2376 Y=808906.6/11 /= 0.0000 8o v bodé X=990722.1421 Y=808869.1578 0.0000
S 11 v bods X=990738.1042 Y=808911.2532 /= 0.0000 g v bode X=990724.5715 Y=808866.9444 7=  0.0000
12 v bode X=990739.0238 7Y=808910.2649 /= 0.0000 g v bode X=990728.3986 Y=808862.2933 7=  0.0000
83 v bods X=990726.3465 Y=808862.4264 7=  0.0000

VYTYCOVACI/ BODY - SO 06
asoroo4s 7~ o0 VYTYCOVACI BODY - SO 16

/22

13 v bodé X=9907349039 Y
14 vbode X=990728.6166 Y=808909.3878 7=  0.0000
15 v bodé X=990727.1297 Y=808907.9493 7= 00000 84 v bode A=BINGOI.JBI6 - =60G/35.5561 - 2= 0.0000
| 16 v bode X=990715.3703 Y=808896.9725 7= 00000 85 v bode x=990600.6390  1=B08752.6606 7= 0.0000
17 v bodé X=990713.9533 Y=808895.6389 7= 00000 86 v bode A=BINLIL.9485  1=BUG/I0.0182 /= 0.0000
18 v bods X=090704.2697 Y=808886.5255 7= 00000 87 v bod® X=990597.1382  ¥=80875/. 7654 7= 0.0000
r Hom Ves 9 bodt (005651239 Y-RETT IS 1= 00000
X i 89 v bode X= : = . = :
VYTYCOVACI BODY - SO 07 90 v bodé X=990593.4037 Y=B08738.0493 7=  0.0000
2061 19 v bods X-0906384387 Y=B0BY07.8396 7= 0popp 91 v Dode A=890994.1207 §=608/8. 7411 - i= 0.0000
20 v bods X=990637.7263 Y=808907.1375 = 0poop 92 v Dodt X=890592.7272  1=808740.006 - 7= 0.0000
21 v bods X=990624.0609 Y=8089214859 z= 0poop 93 v Dode X=880-92.0089 1=BU8/39.5049 /= 0.0000
22 v bodé X=990624.7851 Y=808922.1756 Z= (00000 94 v bod® X=990590.8703 - r=B08/25.5183 7= 0.0000
N ; 95 v bod¢ X=090590.1343 Y=B08722.8415 7=  0.0000
VYTYCOVAC/ BODY - SO 09 96 v bod¢ X=090582.7212 Y=B087305778 7=  0.0000
97 v bodé X=090583.4566 Y=B08731.2557 7=  0.0000
23 v bodd X=990700.5168 Y=808883.9482 7= 00000 g8 v bod¥ X=990580.3910 Y=808713.5659 7=  0.0000
24 v bodd X=990700.6857 Y=808882.9618 7= 00000 99 v bod¥ X=990579.8690 Y=808712.8741 7=  0.0000
25 v bodd X=990697.3521 Y=808882.2600 7= 00000 100 v bod¥ X=990578.3086 Y=808714.2937 7=  0.0000
26 v bode X=090697.2479 Y=808883.2600 Z= 0.0000 101 v bod X=090578.4086 Y=B0ST15.5409 Z=  0.0000
27 v bode X=990685.9640 Y=808883.1607 Z= 0.0000 102 v bod ¥=090576.9894 Y=BOS716.0628 Z=  0.0000
28 v bode X=090685.8760 Y=808882.1593 Z= 0.0000 103 v bods ¥=090576.3683 Y=B0S714.9647 7=  0.0000
29 v bods X=990677.5297 Y=808883.7701 Z= 00000 104 v bodd X=990571.9872 Y=B08714.3437 Z=  0.0000
30 vbode X=090677.7303 Y=808884.7499 Z= 00000 105 v bods X=090571.8469 Y=B0S715.3338 7=  0.0000
31 vbode X=990869.0638 Y=808886.6278 Z= 0.0000 106 v bods X=090569.9065 Y=BOS716.0048 7=  0.0000
32 vbodé X=090868.9362 Y=808885.6322 Z= 0.0000 107 v bods ¥=090569.2218 Y=B08715.2704 7=  0.0000
33 vbode X=0908615604 Y=808885.9387 Z= 0.0000 108 v bods X=090567.9807 Y=B0B716.5692 Z=  0.0000
34 vbode X=0906615196 Y=808886.9413 Z= 00000 109 v bods X=090568.6838 Y=B08717.2807 Z=  0.0000
35 v bodé X=990657.0747 Y=808886.3920 7=  0.0000 3 )
z 36 v bodd X=9906572653 Y=808885.4080 7= 00000 WYTYCOVACI BODY - KS1
37 v bodé X=990645.7285 Y=808882.3421 7=  0.0000
38 v bodd X=090645.4315 Y=808883.2979 7= 00000 k1 v bods X=990708.5841 Y=808890.5859 7=  0.0000
| 39 vobods X=990631.0658 Y=808878.1723 7= 0.0000 k2 v bod¢ X=090707.551 Y=808891.6782 7=  0.0000
| 40 vbods X=990631.3942 Y=808877.0277 7= 00000 k3 v bodd X=090706.0996 Y=808890.3075 7=  0.0000
. 41 vbode X=990619.9647 Y=B08873.3579 Z= 00000 k4 v bode X=990707.1276 Y=808889.2152 Z=  0.0000
£ vbodé X=990619.6353 Y=8088743021 7=  0.0000
43 v bodé X=990609.8885 Y=808870.8025 7=  0.0000 X 1
o veoa0si00ns vsosseesrs - oo VY TYCOVACIBODY - KS2
45 v bode  X=990601.4789  ¥=808860./U30 7= 00000 5y phode  x=990688.2586 Y=808857.0713 7=  0.0000
46 v bode  X=990601.1/11 v=608560.69.0 /= 00000 g pogs x=990686.8384 Y=808855.7351 Z=  0.0000
47 v bode X=930586.6192  Y=608860.0229 2= 00000 7y phode  X=090694.0330 Y=808847.6755 Z=  0.0000
46 v bode X=990597.6/30 ¥=00886543/9 [= 00000 yg y pode X=990695.6538 Y=808840.2116 Z=  0.0000

VYTYCOVACI BODY - SO 10

détské hristé

1222/ 49 v bodd X=090579.4480 Y=808851.4406 7= 00000  VVYTYCOVACI BODY - KS3
50 v bodg X=990578.2991 Y=808850.2955 7=  0.0000
51 v bodé X=990563.1926 Y=808848.4827 Z= 0.0000 k9 v bodé X=990624.9561 Y=808808.9026 7=  0.0000
52 v bodé X=990563.2392 VY=808849.4955 7= 0.0000 k10 v bodé X=990623.6632 Y=808810.2618 7=  0.0000
X . k11 v bods X=990619.7066 Y=808806.4982 7=  0.0000
VYTYCOVACI/ BODY - SO 13 k12 v bodd X=990620.9543 Y=808805.1871 7=  0.0000
53 v bods X=990517.8161 Y=808842.9135 7=  0.0000
54 v bodd X=990517.2247 Y=808843.7469 7=  0.0000 % .
55y bods 1—000516. 7005 v-aossaisien - oo VYTYCOVACI BODY - KS4
% v bod® A=990516.8197  f=0UBBA24808 /= 00000 ey hoge x-000603.5162 Y=808807.0801 Z=  0.0000
57 v bodé X=990509.8610 Y=808843.7516 7=  0.0000 S B B
- k14 v bodd X=990604.7106 Y=808808.3607 7=  0.0000
58 v bodd X=990510.0790 Y=808844.7284 7=  0.0000 S B B
. k15 v bodé X=990603.2808 Y=808809.6942 7=  0.0000
59 v bodé X=0905040787 Y=808B46.3152 7= 00000 | o e N oe0esS 0013 Y-ROBROB.I024 7= 0.0000
60 v bods X=990503.7613 Y=808B45.3648 7=  0.0000 ' ‘ ‘
61 v bodd X=990500.3584 Y=808846.7485 7=  0.0000
62 v bods X=990500.8416 Y=808847.6315 7=  0.0000 ¥ "
63 v bode w-000408.1781 v-soeasts 7~ oo VY TYCOVACI BODY - KS5
64 v bod® X=99043/.5019  Y=008848.766/ 2= DUUO0 1y hode  x-000568.0575 v=808867.6757 7= 0.0000
65 v bods X=990495.3960 Y=808851.1966 7=  0.0000 S B -
S B B k18 v bodd X=990569.3504 Y=808366.3165 7=  0.0000
66 v bodé X=990496.1240 Y=808851.8834 7=  0.0000 S i -
S B B k19 v bodd  X=990566.6459 Y=808863.7439 7=  0.0000
67 v bods X=990493.7406 Y=808854.2050 7=  0.0000 T VI ot A PR
68 v bode X=990493.1504 Y=808853.3750 z= 00000 K20 - ‘ - ' B
69 v bods X=990491.3993 Y=808854.2241 7=  0.0000
70 v bodd X=9904915684 Y=808855.2529 7=  0.0000 v ,
VYTYCOVACI BODY - KS6
k21 v bodé X=990608.9250 Y=808920.5571 7=  0.0000
k22 v bodé X=990614.3866 Y=808919.9215 7=  0.0000
k23 v bodé X=990614.8491 Y=808923.8956 7=  0.0000
k24 v bodé X=990609.3875 Y=808924.5312 7=  0.0000
k25 v bodé X=990607.0966 Y=808926.8113 7=  0.0000
k26 v bodé X=990616.6194 Y=808925.7031 7=  0.0000
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